shex2A | wRsTIxEEMzsmE | LRI ERT
LEEH O 99HM ELEEFiHKED
SHN6E3 A29RKRE
O BB IR IR
el @y | ARER e 0 TEmER 0| g
SHeE2 AT 106 6 0 3 100
Mo E2 AT 108 10 0 0 98
& 2 2 +0 3 +2
. T I
| ABBHEBROERCHHN, BlEEEEM |
I o o o o e e e S P T  — — — — — — — — — — — — o |

OANEEHERA ALK

At E BERE Bl
SH6E2 At 0
SHM5FE2 A/ 2
- -2

| 2 AP OEMEE TOEHFE

Dt
0%

IEE&R
50%
BR
0%

IEmEEZR
1BE
- HE LR

Z D

vV oF 9 FI F¥ ¥ JFF Fy Iy I I FP Iy Fy Fy FF Py Py FJ F¥ FF v Jy P FF F4

OANBERFRANTEER

ZE R E = B A = E A

(0 ~158%) (16~24%%) (25~64%%) (65m% LA L)
SM6E2/h 1 1 3 1
SM5E2A/h 0 0 Ji 3
R +1 +1 -4 -2




